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Irregular Roots

Root letters of J:\ (to take): 3 C ¢ (R1 hamza)

Root letters of d\.w (to question): J ¢ w#(R2 hamza)

Root letters of i};(to read): ¢ ) (3(R3 hamza)

Root letters of daa; (toreach): J _= 9(R1 )

Root letters of J& (to say): J 5 (3(R2 9)

Root letters of &3 (to supplicate): ¢ 2R3

Root letters of (i (to lose hope): (« ¢ & (R1 9)* (R2 hamza)
Root letters of&lé (to buy): ¢ $ < (R2 ()

Root letters of ‘é-w (to forget): 5« U(R3 &)

Root letters of (63 (to guide): 5 3 2 (R3 )



Root letters of Juia(to be astray): J J = (R2 = R3)

- Irregularity can be if one of the roots is ¢ (5 3

- Also, irregularity can be if R2 and R3 are the same letter

- The pattern of conjugation will be different (i.e. irregular)
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In R1 Hamza, the command tense is irregular
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In R1 Hamza, the Actor (Je\&ll) is also irregular

Present Command
Command Tense Present Tense Pronoun
Tense Tense
US C)Sﬁ RS AL You
\)\S QME’ ‘:l; g\.l;ﬁ You both
\ BHNE [PXEN Ol You all
S8 ClSE TAEN Cpdals You (f)
&K KB GRES Gt You all (f)
FAMILY MEMBERS

Il s Y& o okl

aalal asy) aaf AL AL &
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Laxi— root letters are L ¢ stowarn

- Pasttenseis normal:.l:'ai;j

2

- Present tense is irregular — R1 gets dropped completely: Jax3

- Command tense is irregular:.ﬁn;

FAMILY MEMBERS

J U= 9—tojoin
Past tense: (L
Present tense: (luan
Command tense: (Ja
Masdar: 3\1«4

Actor: Jual3l)

Acted Upon: (J ga gall



R2 3

Js3935— root letters are 3 s ¢ : to return

Past tense is irregular — R2 gets changed to an ): e

When you conjugate past tense, when R3 has a sukoon...

Edyia Gy Bipia Eiyia Igiiia Gyia Cijia

Present tense is irregular:

- &;1):'4;— R1 &
- 3‘9;;1— R2

Command tense is irregular — R2 gets dropped: kY3

Actor is irregular — R2 gets changed to a «:

-2 gl
FAMILY MEMBERS
J 58 U &l 29¢
Past Jé & e
Present U_}é:* C)fis 3,9;'9
Command ot B kYS
Actor Jalall By 2lad)
PAST CONJUGATION
J 53 D9 & 29¢
OH& e
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